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g Heg- (General Instruction)
» Candidates are required to give their answers in their own words
as far as practicable.
el JAIWG 379 TGl H SR < |

» The total number of questions is 19.

Fel ULl B FEAT 19 B |

» Question number 1 to Question number 7 are very short answer
type questions. Answer any five of these questions. Each question
carries 2 marks.

U AT 1 W U T 7 dF JMfd g SR U € | g
I fol Ui Ul & IR QAT | e U9 &I A1 2 3id
fRefRa 21

» Question number 8 to Question number 14 are short answer type
questions. Answer any five of these questions. Each question
carries 3 marks.

Ue T 8 W U WA 14 % oY SR U 21 3 |
f2l Ul Uedl & IR QIR | Ud U & d19 3 3 FeiiRa

=

» Question number 15 to Question number 19 are long answer type
questions. Answer any three of these questions. Each question
carries 5 marks.

o G715 I YT I 19 T o" IR U 2| 38 9
fopsl 9 Ue9l & SR IV | U 99 &l J419 5 3 HeifRd
=
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10.

Section-A (EUs-31) (2 x5 =10)

nl

(n—nr)!’

Evaluate ifn=9 & r =05.

n!
(n—nr)!’
Find the A.M. and G.M. of two numbers 3 and 27.
I Gl 3 3R 27 BT A.M. 3R G.M. ST BT |

Find the slope of the line making inclination of 60° with the positive direction
of x-axis.

A WA G Bl S ST DISTY STHABT x-31&7 DI GATHD [T B A1 FbTa—hIoT
60° B |

e n=9dqaqT r=75, d T AT STd DIOTY |

Find the equation of the line which makes intercepts —3 and 2 on the X- and y-axes
respectively.

S AR XET BT FHIGROT S DHINTT S X- TAT y - 3fell & A1 HAE —3 3R 2
3=: Gvs Pl 2|

Find the equation of the parabola with vertex at (0, 0) and focus at (3, 0).
S WRIAT BT FHIHIOT S HITg et oy (0, 0) )R Ud =1fF (3,0) TR B |

A point is on the x-axis. What are its y-coordinate and z-coordinate?

U g x-31e7 R Rerd | g9 y - awna aon z - fdena @@ &7

A die is thrown two times. Write the sample space for this experiment?

Udh YTl & IR Bhl AT 8 | 59 URIGTOT BT Uil gafte ford |
Section-B (Hvs-4) (3x5=15)

Find the number of different 8-letter arrangements that can be made from the letters
of the word DAUGHTER so that all vowels occur together.

DAUGHTER ¥ & 31&RI W 8 3eR dTel f[a=urdi & e Sd Hifog, Ife I W
TH AT 2 |

If the sum of three numbers in A.P. is 24 and their product is 440, find the numbers.

e el FaraR 2ol &1 9 Femell &1 AT 24 © QAT ST [OH 440 ©, A
AT S BT |

Find the distance of the point (3, —5) from the line 3x — 4y — 26 = 0.
WA N@T 3x — 4y — 26 = 0 ¥ {95 (3,—5) @I A M A DIy |
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Find the angle between the linesV3x +y = 1 and x + /3y = 1.
WA @Rl V3x+y =17 x++V/3y=1 & § &1 BT A1 BT |

Find the the equation of ellipse, whose length of major axis is 20 and foci are (0, +5).

I QEGT BT FHPROT A DI, e -3 $1 g 20 © dAT A1l
(0,45) |

Show that the points (—2,3,5),(1,2,3)and (7,0,—1) are collinear.
feamt & fdg (—2,3,5),(1,2,3) 3R (7,0,—1) T 2|

A card is selected from a pack of 52 cards, calculate the probability that the card is an
ace of spades.

AT BT TS D 52 YAl H ¥ YD YT ATgesdl (blal AT 2 | U BT §HA BT Sdb]
B @1 RIS ST HIfoTy |

Section-C (TUs-9) (5 x 3 = 15)

From a class of 25 students, 10 are to be chosen for an excursion party. There are 3
students who decide that either all of them will join or none of them will join. In how
many ways can the excursion party be chosen?

25 faenfeial @1 U el I 10 &1 T Udh YHI—ad & forv fhar Sirar g 3 faemefy
g 2 e gg fAofg forar @ f ar a1 O < o onfier 2Ff a1 S99 9 die W)
T H AT 8 BT | YHUI—ao &l I fhds UbR A fhar S gadr 27

Find the sum to n terms of the sequence 8, 88, 888, 8888, ........
3% 8, 88, 888, 8888, ....... @ nYUAl BT AN S DY |

Find the equation of the line passing through the point of intersection of the lines
4x + 7y —3 = 0and 2x — 3y + 1 = 0 that has equal intercepts on the axes.

@Rl 4x + 7y —3=03IR 2x —3y+1=0 & vlass 95 A A drell &1 &l
THIHROT ST BHITY ST 3fedl | A 3T S a1 ¢ |

Find the equation of the circle passing through the points (4, 1) and (6, 5) and whose
centre is on the line 4x + y = 16.
fa=gaii (4, 1) 3R (6, 5) F ST dTel Id BT FHIDHRY A DI, TTHBT st ¥l

4x +y =16 R Ra g |

If A and B are events such that P(A) = 0.42, P(B) = 0.48 and P(A and B) = 0.16
Determine:

(i) P(not A) (ii) P(notB) (iii) P(AorB) (iv) P[(AUB)"] (v) P[(A n B)1].
geAaU A IR B 39 UHR B f& P(A) =0.42, P(B) = 0.48 3iR P(A3IRB)=0.16 qI 3
PITT :

(i) P(A=T=Y) (i) P(B=T2I) (i) P(AdT B) (iv) P[(A UB)'] (v) P[(A n B)].
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